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PAPER III—BENGALI
Time Allowed—I Hour Full Marks—50

If the questions attempted are in excess of the prescribed number, only the
questions attempted first up to the prescribed number shall be evaluated
and the remaining ones ignored,
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Self help is a great virtue in a man. It gives him enough courage to face the tasks of his life boldly.
To a self-reliant man, life is a great adventure. He carries out all his plans with determination.
Sometimes he is placed in difficult circumstances, but his strong -will help him to overcome the
difficulties and achieve all that he expects. Hence Emerson calls self reliance, the essence of heroism
and the first secret of success.
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PAPER II—ENGLISH

Time Allowed—1 Houf Full Marks—50

If the questions attempted are in excess of the prescribed number,
only the questions attempted first upto the prescribed number
shall be evaluated and the remaining ones ignored.

1. (a) Using the following points write a report on the rapid increase of cell-phone users specially in the

student community.

(Use of cell-phones in public places — ill effects on health, youth narcissism effects on academics —
accidents)

Or,

(b) Write a report on your visit to an old age home. Use the following points.

(Date, place and time — glimpses of people and their newly found home — their hope and despair — your
comment on our society) 15

" Translate the following passage into English.
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/?. Make a précis of the following passage in your own words and add an appropriate title.

As nations understand one another better, they come to like one another more, to treat and help one another
more. Thus, wars become less and less frequent, and each country enjoys peace and is able to develop in the
way that is best suited to ts own characteristics. The arts and literature of one, the commerce and industry Qf
another, the science and philosophy of a third, all combine in the service of.humamty and the whole world is
made better and happier. For just as we are taught to aim, not at our own individual welfare, but at the wc?lfare
of the whole body of our countrymen, SO We should remember that each country has a duty to perform in the
great work of the world. Let each of us try then to love his fellow-man of whatever race he may be, and

endeavour to learn as much Ef,_go_szg'lp_lgof the great world that lies beyond our own land. 10
¥
4. Frame meaningful sentences with the following phrases: 5

(i) Spill the beans
iy To be up in arms
(ili) Wear and tear
iv) To flog a dead horse
(v) Fight shy of
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5. Give the antonym of the following words:
(i) Tricky
(i1) Provenance
(i11) Manifest
(iv) Extravagant
(v) Hope
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PAPER I-—GENERAL STUDIES AND ARITHMETIC

Time Allowed—2 Houry Group A—80 Marks

Group B—20 Marks
Full Marks—100

Separate Answer Books 1o be used for Group—A and Group-B.

(In case a candidate writes answers to questions on Group—B in the answer book
¢ S (Y » \ .
meant for Group-A and Vice-versa, such answers will not be evaluated.)

If the questions attempted are in excess of the prescribed number,
only the questions attempred first up to the prescribed number
shall be evaluared and the remainin g ones ignored.
Group-A (General Studies)

Answers may be given in English or in Bengali or in Nepali
but all the answers must be in one and the same lan guage.

Parts of a question should be answered together and should not be
interposed by answers to other questions.

All questions carry equal marks.

Answer any five questions.

1{ Describe the Quit India Movement in the context of the National Freedom Movement of India.

/"/ What is the significance of a Preamble to a Constitution? Bring out the philosophy of the Indian Polity as
enshrined in the preamble of the Indian Constitution.

3. What are Green House Gases and Acid Rain? How do they happen and what are their impacts on environment?
What can be done to avoid these?

V¥ Whatis Unique Identification Number or AADHAAR? What are the promises and reasons given in its support?
What are the dangers and risks involved in such a project?

v?-  Discuss the Maoist problem in India—its extant and its influence on the Indian Polity.
‘;{ What is an antibiotic? What are the implications of its over use? What is AIDS? What measures can be taken
to prevent it?
Group-B (Arithmetic)

- Questions may be answered either in Bengali or English but all the answers
must be in one and the same language.

Answer any four questions.

7. Atagiven rate of interest compounded annually a sum of Rs. 8,000 became Rs. 10,580 after 2 years. What was
the rate of interest?

N 4 A bag contains rupee, 50 paise and 25 paise coins in the ratio 5 : 6 : 8. If the total amount is Rs. 420/, find the
number of coins of each type.
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The distance between two stations Howrah and Patna is 450 km. A train starts at 4 pm from Howrah and moves
towards Patna at an average speed of 60 km per hour. Another train starts from Patna at 3.20 pm and moves at
an average speed of 80 km per hour. How far from Howrah will the two trains meet and at what time?

Amal can do a piece of work in 10 days, while Kamal alone can do it in 15 days. They work together for 5 days
and rest of the work is done by Bimal in 2 days. If they get Rs. 450/- for the whole work, how should they

divide the money?

A man bought a horse and a carriage for Rs. 3,000. He sold the horse at a gain of 20% and the carriage at a loss
of 10%, thereby gaining 2% on the whole. Find the cost of the horse.

Of the three numbers, the second is twice the first, and also three times the third number. The average of the
three numbers is 44. Find the largest number.



